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int a;

a=x>0?x:-x;
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}

(2) TR e LR 5 T R A S

return a;

#include <iostream>

using namespace std;

int main ()

{

}

int a=10, b=5;

cout<<fun(a,b)<<endl;

return 0;

return x<y?x:y;
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#include <iostream>

using namespace std;

double fac (int n)

{

}

int i, r=1, f=1;
for (i=1; i<=n; i++)
if | )
f=-1;
return (double)f/r;

int main ()

{

}

(4) F i R S

int n, i;

double facSum =0.0;
cout<<"IFHI A n WfH :";
cin>>n;

for(i=1; i<=n; i++)
cout<<facSum<<endl;

return 0;
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#include <iostream>
using namespace std;
int Fib (int n)

{

int pre2, prel=1, cur=1, i=2;

if ( )
return 1;

do

{
i++;
pre2=prel;

prel=cur;
} while (i!=n);

return cur;
int main ()

int 1i=0, sum=0;

for (i=1; i<=5; i++)
sum += ;

cout<<sum<<endl;

return 0;

}
(5) MR 3~100 B BT A B0 A T A RR Y AN TS

#include <iostream>
using namespace std;
int k=0;
bool IsPrime (int n)
{

int i;

for(i=2; i<n; i++)

if(n%1i==0)

if(i==n)
return true;

return false;
int main ()
int n;
cout<<"3~100 Z A EE I : "<<endl;
for(n=3;n<100;n+=2)

if ( )
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